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public static void bubbleSort(double[] a) {
int n = a.length;

for (int i = 0; i < n - 1; i++) {
for (int j =n - 1; j > 1i; j--) {
if (a[j-1] > a[j]) {
double t;
} t = a[j-1]; a[j-1] = a[j]; al[j]l = t;
// System.out.println("a[" + (j-1) + "]& a[" + j + "]&HEL=, ");

}
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public static void selectionSort(double[] a) {
int n = a.length;

for (int i =0; i < n - 1; i++) {
// a[i]~a[n-1]D#iFHI & i/NOME alk]Z RO 5
int k = i;
for (int j =1 + 1; j < n; j++) {

if ( ) |
k = 3;

}
}
if (k = 1) {

double t;

t = a[k]; a[k] = a[i]; a[i] = t;
}

}
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public static void insertionSort(double[] a) {
int n = a.length;

for (int i

=1; i < n; i++) {
double t =

alil;
// a[i-1] — a[i], a[i-2] — a[i-1], a[i-3] — a[i-2],
// a[@]~a[i-1]DHFH %% ANLIAIZT 5 Liﬁﬁ)%t@ﬁlu

int j = 1i;

while (j »>= ) {

&
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if (a[j-1] t) break; // fHAMZEZIER (while DRMAFAUTHAIAAL TH LX)

}
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public static double[] merge(double[] a, double[] b) {
double[] ¢ = new double[a.length + b.length];

inti=90, j=20, k =
while (k < a.length + b.length) {

if (i >= a.length) c[k++] =

else if (j >= b.length) c[k++] =
else if (a[i] <= b[j]) c[k++] =
else c[k++] =

}

return c;
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